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exchange

enough

employ

effect

forty

fulfil

friction

function

forget
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IIffiu fiction
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noiunftc forget
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Put in the missing letters — say them out load as you do it

exchange ex_h_
enough e_O0ou._
employ e_p_oy,
effect e_fect,
forty fo_ty,
fulfil f_I_il,
friction

function

forget f_rg_t,

nge,

e_cha_ge
e_o_gh, eno_gh
em_loy, em
ef_e_t, _ff_ct

o

fu

fr _ct_on,

f nc_ion,

fo_ge_,

t_, f_r_y
f 1, fu_fi_

f ict_on

fu_cti_n

Which word fits in which shape?
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Read these sentences one at a time until you are fluent. Then type or write
them out at least four words at a time.

How did the guard forget to employ forty men to advise on the function.

The source of the friction was enough to have an effect on the earthquake.

To connect the college we had to exchange the cable for the client.
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Write out these words in capital letters — say them aloud

exchange effect
enough forty
employ fulfil

forget

friction

function

Which word from the list is not used in this passage?

When | was on holiday | did not want to forget that | had promised to fulfil a promise

to aftend a function at the hotel. | had not got enough money so | went to the bank

to exchange forty pounds, but the bank would not give me the money. The effect of

this was to cause great friction between the bank and myself.

Circle every fifth letter in this sentence to make a word

To offer me usual lamps free riles Alan. The word was

Put in the missing words

Do not to lock the door when you leave.

| hope | can my duties in future.

| could not turn the nut with my finger. | had to
The jumper was torn so | asked the shop to
Bicycle and car brakes work because of
Two fifths of one hundred is

| could not eat any more as | had had

The of the switch is to furn on the light.

The book had quite an on me.
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Crossword

ACross

3

5

7

8

The result or
consequence

To give one thing
and receive another
Carry out, satisfy or
complete

Twice twenty

Down

1
2

Unable to remember
Produced when two
surfaces rub
together

The job of
something, an
official duty or an
important meeting
Has the required
amount or plenty
Use or give ajob to
someone
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effect
employ

enough
exchange

forget
forty

friction
fulfil

function
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